F L=

Selo Lacing

KTM 790 DUKE (18-)
REAR SETS part# KTM-790RS

Made in Japan

(BACK SIDE)

N\
\\
000 ] |
3
o IR
@
'@—
’

10.
11.
12.
13.
14.
15.
16.
17.
18.
20.
22.
23.
25.
28.
31.
32.
33.
34.
35.
37.
38.
39.
40.
41.
44.
45.
46.
48.
49.
50.
51.
52.

I sIDE

2. (R) HEEL GUARD [HG-3R]
4. (R) STEP PLATE [KTM-790SP-R]
6. (R) BASE PLATE (BK) [KTM-790BP-R]

MASTER BASE [KTM-790MB]

BRAKE PEDAL [BPD-RS4125]

STAY (BK) [STAY-L40-3]

PUSH ROD 70 (SV) [PRD-70]

FOOT PEG [PEG]

FOOT PEG END CAP [ST-002]

PEDAL TIP (DELRIN) [ST-001D18]

PEDAL STOPPER 12.5 (DELRIN) [BPDSTOPPER-125]
PEG COLLAR 15 [PEGCLR-15]

ROD END COLLAR 12 (BK) [RDEDCLR-12]
COLLAR 55-10 (BK) [CLR-55-10]

COLLAR (BK) [BPCLR-KTM790]

HEX HEAD M8x40mm [HBT-M840]

SOCKET HEAD M8 x 15mm [SBT-M815] x 2
SOCKET HEAD M10x85mm (P-1.5) [SBT-M1085-15]
SOCKET HEAD M12x45mm (P-1.75) [SBT-M1245-175]
BUTTON HEAD M5x15mm [BBT-M515]
BUTTON HEAD M5x18mm [BBT-M518]
BUTTON HEAD M5x25mm [BBT-M525]
BUTTON HEAD M6x15mm [BBT-M615] X 2
BUTTON HEAD M6x25mm [BBT-M625] X 2
BUTTON HEAD M6x30mm [BBT-M630]
BUTTON HEAD M8 x 25mm [BBT-M825]

LOW SOCKET HEAD M6 x 20mm [LSBT-M620]
PLAIN NUT M5 [NUT-5] x 2

PLAIN NUT M6 [NUT-6] x 2

JAM NUT M6 [INT-6]

PEG WASHER M8 [PWS-8]

SMALL WASHER M12 [ws-12S]

SPLIT WASHER M8 [sws-8]

MALE ROD END M6 [RDED-M6]

RETURN SPRING 8-35 [RS-RSP835]

satoracing.com



